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g M- AE 2
SR AEA S

SN C(BH) - NRAY - HES o B HlmE2
Ol &k
X < 1t 2,962,987 3,953,649 A 990,662
M- AE 24 400,521 485,159 N 84,638
XA S 79,686 154,275 AT4,589
ANgA 2 2 23,670 26,020 A2,350
201 LEt23d| 20,750 22,450 A 1,700
01 AbR22lH| 20,750 22,450 21,700
Ogt=ZH| 19,700
—N=g OXAM 2 66,0003 110 A 7,260
—MAEEET Y 40,000 708 A 2,800
—JXAN sE8 =5 #8  70&+80,0000H 5,600
—FHSHM JEAIER GHUHE HE
50& 20,0000 1,000
— XA SFS B 2 80,0003 »38¢H 3,040
O=&tl 7,000 x5% x304! 1,050
202 (48| 1,000 1,500 A500
01 =LHAbI 1,000 1,500 A500
OHNSRZEAL Kb 20,0003 x2EH x5 1,000
203 HRF&H| 1,920 2,070 A 150
03 AEFXHRFAH| 1,920 2,070 A 150
OXNLHEAH =& 160,000& x12& 1,920
NS HMAIAE RRE L 44,400 78,635 A34,235
201 LBt 25,700 54,500 A 28,800
01 AFR 22| 9,900 15,500 A5,600
Oget=&ZH| 9,900
—geg Zag £4 7Y
300, 000& »2CH 33| 1,800
—DAIMNEY Zely Ed #Y
180,000& *1CH*13] 180
—0IdA 58 EH 2 400,000 *6H 2,400
~HSH - SEH S B £ P
320, 0002 104 320
—NETEH EH 2 400,000& * 1304 5,200
02 22234l 15,800 39,000 A23,200
OA&EHI= Xl 15,800
—NEHTBH RAES 400,000& 10 4,000
—MAEH RAES 1,000,000& x10& 10,000
-8 RAE= 150,000& x12& 1,800
403 X SHMSAH=201H 18,700 24,135 Ab5,435
02 SJ|2=0 CHetCH & AL S Yl 18,700 24,135 A5,435
OXLA MatZz2 e RAE 18,700
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Sol: XA St (Srel: &2
5 o SIEN
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
S NI A4 2,600 5,000 A 2,400
303 EAS 2,600 5,000 A2,400
01 Zarz 2,600 5,000 A2,400
OSSHMBBIL Al 2,600
%24 1,000,002 *17 S8 1,000
-24 500,0002!x20l o 1,000
-y 300,0008 %20} S8 600
NLHMNE HAMHE 2 1,500 39,820 38,320
201 Ler2gyl 1,500 3,000 A 1,500
01 At2elt| 1,500 3,000 A 1,500
OXNYHXE HMRE NELSDA R
5,0002 *3002 1,500
X2 7,516 4,800 2,716
201 Lsr2y| 7,516 4,800 2,716
01 AtR2elt| 2,800 2,800 0
OZHACIRIRE BALS 70,0002 102 *43] 2,800
02 =222 4,716 2,000 2,716
Octgrei 2yl 982432120 £ %2} A x1202 4,716
WE R e 59,869 87,411 A27,542
NE L HY 29 8,125 14,900 A8, 775
201 LBty 8,125 14,900 AB,775
01 Ar222ld| 1,725 1,700 25
o2Yay 1,200
~ DTN 2 100, 0002 *123 1,200
o2zl 7,00021 *3% *254] 525
02 === 6,400 13,200 6,800
OAl& EHIS X bl 6,400
—DADE Y YRT2IY XS
1,000,0002 x4:2 )| 4,000
~NEZUNT BEI SX22
200,0002! * 122 2,400
SHNLL DM =4 42,004 55,071 A 13,067
201 Ler2gy| 38,504 40,724 A2,220
01 AtR2elt| 38,504 40,724 A2,220
OYsr2g4Y| 30,824
—20098 SSWREDAN 22
70,0002 +5052 3,500
~SRNYREDH BEME
60,0002 x50 +15 3,000
—=SAS)| FHALEE PY 30,0008 55 150
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SRl WE T (25l &2
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SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
—SAR)| ZAAE BASSERD
9,037,00024 +25| 8,074
—HYNEZLN L 22HE
50,0008 %502 x23] 5,000
—ZAAAAN ol 10,0002 *505 500
~SEHRE DN B2 EY
300, 00024 *27H 600
o2zl 7,0002 +4% *602 1,680
OZMAARIRE ST 100,000 *3% *202 6,000
202 01t 3,500 4,000 A500
01 =Uoit| 3,500 4,000 A500
ORLAA L HEAHY 5L - € BSXY
50,0002 * 12 x202 1,000
OSSMLEDN & SSHY
50,0002 x22 x252) 2,500
2Yx 9,740 17,440 A7,700
201 Yere2o| 9,740 17,440 A7,700
01 AtR2elt] 8,240 15,940 AT,700
Osrag| 5,790
~NESYAS AN L EX
3002 10004 122 360
—Z9d U2tEEH 08442 (YH)
20,0002 25024 5,000
—XYRRSH HEHEE 2
50,0002 +52 250
—Jb% o IR PS2 15,0008 122 180
O AOARIAS| FALEY 70,0008 72 53] 2,450
02 ZZ2H| 1,500 1,500 0
ONBHB2R HHLE2 10,0002 %150% 1,500
NETREES 83,394 85,636 2,758
MM & 77,29 70,636 6,658
201 Yer2o| 69,694 67,436 2,258
01 At 40,99 36,916 4,080
OsragY| 39,876
—HYXY QHY B +4+2
130,00024*10CH 1,300
—RSA U2 9 HHEES 3,002 +1,0002 3,000
—RSN 2 HFIO MY HE
3,0002! +8003] 2,400
—NEBFE A8 2,640,00094 %15 2,640
—2HYAL 0182 3+EI17| 2yl
12,0002 14CH * 1204 2 2,016
—ZXYAIL OI8E SIEYR 242
50,000, 00021 2% 1,000
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
— XAl HIWIIE 48 242
600,000, 00021 *1.5% 9,000
—XSOIM SBRME 018 +42
60,0001 ¥502! 3,000
—XYN SEF AN 7Y
66, 0002 5802t A 5,280
—HoI2Y S5F DA P
78,0002 5802 A 6,240
~NYNHAEHS TRIED| EH P
300, 00024 #47H 1,200
— Mg FAADE(WH 0 D)
30,0002 * 107H 300
—Hel4e TRIE £ 7Y
300, 0002 *2CH *33] 1,800
—Holae DETED| €4 2
300, 00024 *2JH 600
—HolaY Has 50,0002 *22 100
SEE 7,000%! *48 x40 1,120
2 TZ2YH) 28,698 30,520 A1,822
02222 % WAl 25,008
~XSH SEF SI| 1,7508 122 =482 1,008
— XA SEF LY 250« 1228,0002 24,000
ON&RHIS Y] 3,690
~XPEWE SXAAY SN LS
2,890,0002! 1 2,890
—IE)| RNES 100,0002 *83l 800
202 01t 4,000 3,200 800
01 2UoiHl 4,000 3,200 800
OBAMLH S F4IISH 29 4,000
— S SIS 200,0002 *5 % *43] 4,000
405 THAHF S 3,600 0 3,600
01 RAUSEH S| 3,600 0 3,600
ONZY 23)| 7Y 2,100
CNESVE=SIESTB]) 1,500
Hage N 6,100 10,000 3,900
301 LB AI 6,100 10,000 23,900
12 DB A3 6,100 10,000 3,900
OXZH & eI+ LIl Y2X QIMES
15,0002 3002 4,500
OXIZH BUHANH 2,0002! +800% 1,600
KAl 42 a 5,000 5,000 0
303 T&3 5,000 5,000 0
01 ZA3 5,000 5,000 0
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Sl KA F 4

l:l}\ X xH Cte| (3 N E A HAXZ A} OH I'—-IL'EL‘:— =2}
OXEAN HEZA(AXE ASXS) 5,000
—UEE MM H o 100,000, 000& *5% 5,000
N2+ 2tel 38,460 18,500 19,960
M= |2 34,000 13,000 21,000
201 LetEHH| 2,000 2,000 0
01 AtSR22/Hl 2,000 2,000 0
OM2=2 d&EH SAES 2,000
207 ALK Y| 20,000 0 20,000
02 ™AIHE Y| 20,000 0 20,000
OG0l oI &=3E S/W 13,300
OUIIMHE DBMS S/W 6,700
403 NXISHHSK=01H 12,000 11,000 1,000
02 S| 2S0llCHSHCH et At S B 12,000 11,000 1,000
OAM2+= Z208 KRB+ 12,000
Mol Za 3,200 3,400 A 200
303 Eaz 3,200 3,400 A 200
01 Z&3 3,200 3,400 A 200
OMe=% HEZNEEH+ 2N A& 1,200
-z e 500,000& 12 A 500
—R= 300,000& 12 A 300
—&d 200,000& 22 A 400
OWEE Mgda> L MANALI(AXE XS
X=2) 2,000
—UEE MM HaoH 40,000, 0003 *5% 2,000
23X 1,260 2,100 A B840
201 Let2IH| 1,260 2,100 A B840
01 AFR 22| 1,260 2,100 A 840
OJIRY AR R 4= 70,0003 +x6H *32] 1,260
IE 29 134,112 139,337 Ab5,225
MEEAl 202 H 24,800 25,808 A 1,008
201 LetEIH| 24,800 25,808 21,008
02 =234l 24,800 24,800 0
Ozs32= 2 HAl 24,800
— 2NN FEE MM SIISE
1,750& 3, 0000H 5,250
—2N=T EXNE MAA SIESE
1,750% %3, 00004 5,250
—ZHLHOAFXR THAHA RTSE
2203 *45,0000H 9,900
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—HEFEOL AHENS PHSY
2202120, 0000H * 13| +50% 2,200
—HEFEOLA BT PHSY
220%1+20,0000H * 13| +50% 2,200
HEEe - BE e 105,452 108,269 ~2,817
101 121yl 40,261 38,349 1,912
IS 40,261 0 40,261
OMEFEIF2AE AL Q124 H| 40,261
—J123 35,5002 %102 #1732 50% 30,708
—ER4Y 35,5002 % 10% *3424 *50% 6,035
—40) 2ER 7,036, 0002 *50% 3,518
201 Y2 65, 191 69,920 £4,729
01 ALR2lt] 65, 191 69,920 £4,729
Ogsrag| 65, 191
—jEFEe AFENE 2
66, 00024 *20 A %50% 660
—HEES KF e P
66, 00021 #2088 A x50% 660
—HEFEII2 SHEANE P
66, 0002 *30% A %50% 990
—HEFEOIA AS44E
5,810 %20, 2005 *50% 58,681
—THAKI(FE, B2, EX) ERDXA
66, 00024 %50t A 3,300
—XgH BOBRS DRIE £l P
300,000% 374 900
Sgx 3,860 5,260 A1,400
201 L2 2,660 3,640 980
01 A2l 2,660 3,640 2980
Osg+g 2,660
—XYADHE HLAAARE BALY
70,0002 *5% *13] 350
XS DHEZENRE] Fas
70,0002 *9% »13] 630
LA RSMTIIYAE BHSD
0,0002! 12 %3] 1,680
202 o1t 1,200 1,620 £420
01 2Uhoitl 1,200 1,620 £420
OHLINSEA Ot 20,0002 *2% +302 1,200
THar 22l 2,364,491 2,162,710 201,781
nExy el 241,830 289,330 A47,500
BENY DA 93,000 142,000 49,000
405 XHAHE SHI 93,000 142,000 49,000
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SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24

01 T =S H SHI 93,000 142,000 249,000
O+ ZUXHE 93,000
—3EX(DEH) 18,000,000& *1CH 18,000
—HAXHBE) 75,000,000 *1CH 75,000

2EE A2 141,390 139,830 1,560

201 et 139,590 139,830 A 240

01 AtS 22/l 4,500 5,500 A 1,000
Oget=&H| 4,500
—NEEI2SEZ 300, 000& 153 4,500

02 23234l 135,090 134,330 760
OXtS XAl 13,250
—S&X 320, 0003 *23CH * 13| 7,360
—SEgX 130,000 «7CH*12] 910
—HA 130,000& «2CH 13l 260
—E==x 90,0003 +26CH*13] 2,340
—st=xt 70,000 *34CH 13 2,380
ONsHEE= 31,750
—5&X 420,000& *15CH* 13 6,300
—SEX 550, 000& *3CH*13] 1,650
—HA 1,500,000 2CH x 12/ 3,000
—E==x 1,000,000 *12CH*13] 12,000
—st=xt 800,000& »11CH*13l 8,800
OZMERE=S 4,890
—SEX 15,0003 *23CH *23| 690
—SEX 20,0003 »7CH*23 280
—HA 120,000& 201 23] 480
—E==x 40,0003 +26CH 23] 2,080
—st=xt 20,000 *34CH*23] 1,360
OXtg & et 85,200
—sEX 400,000& *11CH~ 122 52,800
—sgx 300,000& = 1CH*12& 3,600
—HA 1,000,000& »2CH 12 24,000
—3= 200,000 »2CHx 12 4,800

202 O4Hl 1,800 0 1,800

01 WY 1,800 0 1,800
OUEHA 220l 30,000& »1H*60 1,800

g4 JIMM=UzE X2 7,440 7,500 260

201 Let2d| 7,440 7,500 A60

01 A2 22/ 7,440 7,500 A60
o1u=y| 300, 000& »22H 6,600
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SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
oz 7,0002 %40 34! 840
= ZRML 2l 943,969 325,497 618,472
ZRMA HS 150,000 250,000 100,000
401 A&HIZL= Y] 150,000 250,000 100,000
01 Al&l 150,000 250,000 100,000
OFMAel QIFRNE EXNHY L Hy| 100,000
OZ|MAZ2l EXOHY 5,000,000 102 50,000
egx e 793,969 75,497 718,472
201 Yer2ey| 47,363 65,150 AT7,787
01 At222lt| 47,363 65,150 A17,787
O+l 47,363
-SII(2 - 2R) 14,0002 ¥30024 4,200
—AHEE $42(2 - 2BR9)
150,000 15021 22,500
—2E=EY 242 195,8002 %3024 5,874
—FH=e=y 242 299, 20021 x3021 8,976
—HYEY 242 17,1002 %3024 5,313
—A9N Y NE P 250,000% x2 500
401 N&HIYL Y] 746,606 0 746,606
01 Al&l 730,805 0 730,805
Ok - NMelillEA A8 &)
A2 197 *102,0002 20,094
OLoiZENBRIRIRE A AF
242 760 %908, 0002 690,080
SHDEHR2ALS HA S AALH]
690,000,000%2. 9%% 20,631
02 el 11,454 0 11,454
gl AHBRIARS HA AE 22l
690,000, 000! *1.66% 11,454
03 Al& =] 4,347 0 4,347
LW EHR2AALS HA AS
690,000, 000! *0.63% 4,347
A 22l 1,178,692 1,547,883 369,191
YA RS 219,002 199,451 19,571
201 Yer2y| 49,022 48,911 11
01 AtR22/H| 1,600 1,600 0
Oget+gl 1,600
—®IIEH LA (2, 23) 800
—Ag¥YEA(2Y, 23) 800
02 B2l 47,422 47,311 11
OAl & ZHI KAt 47,422
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COAAE 22
CEA 22

A BB O(B) - NEAY - BAS sy S RS2
Ol &
—=22 L JIAtU o1& 9,370& x4,590m 43,009
—2M0 ¥ & 2,860& 494 m' 1,413
—zZtAt2tel ] 250,000& =120 & 3,000
401 AIEHIZ 2 170,000 150,540 19,460
01 Al&t| 170,000 150,000 20,000
O&AN SANE= 140,000
OFA st &5 30,000
A 29 173,618 167,512 6,106
201 LBt F Y| 165,818 161,712 4,106
01 AFR22lH| 34,982 30,382 4,600
Oget=EZH| 29,982
—&J|tMae It 2 375,000& =12 4,500
—dt2e|iidz 180,000& x12& 2,160
—EA ASYAEAEA 200,000& x12& 2,400
—2H M ANBE PO
5,000& x 135 *266 17,290
—=& MYIISEH =F 2L
910& 10001 12 1,092
—EA YUE, RUUER3
39,0003 55128 2,340
—EArZe| & OIS 200
OZMIMNE AR 4 OIAF HIE 5,000
02 5234l 130,836 131,330 A494
O=232z= ¢ HA 130,836
—=8 dJIe3 9,880,000& = 12& 118,560
—=28 =523 400,000& +12& 4,800
—=& AYord 3| 200,000& *13] 200
—=23 SZMNERES 550,000& »23| 1,100
—2Al HERS 2 987.71&*2,000 £ 1,976
—=& 283 #E&A 200,000 *8IH A *23] 3,200
-7 % J|F 2 20,000& 508 1,000
206 M=l 7,800 5,800 2,000
01 M=z=Hl 7,800 5,800 2,000
=& &Iz 2¢ 4,000
-2ty g&4s 2¢ 50,0003 *208f A 1,000
—LEDE S 7 60,0003 504 3,000
OFAU == E=ai &H 800
—=5 &2 Mz 7 50,0003 45 *43] 800
O=23 X1 = 6003 *5,000& 3,000
HNEES P 79,800 40,600 39,200
405 THaHE S| 79,800 40,600 39,200




M HR

S THaE 2tel
SR FAL 2t

SN I SRI(S) - NRAY - B sk als B RS2
0f 4 o8
Y = FFH S| 79,800 40,600 39,200
o8Il +¢ 10,000
O&Il Y (=2%) 10,000
OOI=SHEA &= &I 7 40,000
O0IZEAMRA I 2 40,000
O] 2 20,000
—=& 5,000, 000& *2CH 10,000
—5Y 5,000, 000& *2CH 10,000
Ost&E4 sHEEeol 7 1,400, 000& »2CH 2,800
O&=EHARA I 2 7,000
S -8 AL AE @ 2 625,500 1,069,741 N444,241
401 Al YIS OHYI 625,500 1,069,741 N444,241
01 Al&H| 625,500 1,050,000 A424,500
OSHEA AIE&2 EHI 10,000, 0003 *57H1 £ 50,000
OSHAMSEA O BAIRS2H X
17,500, 000& *7 4 A 122,500
OdolSAMRL 283 WH  1,000,000&x20& 20,000
OQaFHARL SHEA HES 13,000
O(R)0I=HHAL 2D & &H =4 250,000
ONEARA SSHME &X 20,000
O&FHARA 22X 0H(321m) 150,000
ME ZH 80,752 70,579 10,173
201 et 80,752 70,579 10,173
02 25234l 80,752 70,579 10,173
O232= 2 HAl 80,752
~THSRHI(A2, AEE, AH)
179,000 & 20524 36,695
—IXESA SHalb 514,200 543 27,767
—SHa SH bl 110,750& »32H 3,544
— X224 ZHSE 492,103,000 *2.59% 12,746
Hess(Hen) 113,300 1,219,600 A 1,106,300
28X = 113,300 219,600 A 106,300
AN S Ao SaE 113,300 219,600 A 106,300
311 X =0l kk&f e 3,300 9,600 26,300
06 JIEFX Y =0l At&te 3,300 9,600 26,300
OX=zs Olktate 3,300
601 XSS atE 110,000 210,000 100,000
06 JIEf=ZUHXE SRS &E 110,000 210,000 100,000
Ooxg=zs Azas 110,000
HY2AHH (MWL) 84,675 86,180 A 1,505
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XS 1t
Y HE2HZH (MR)
chel: ol 2oyl R
SA BB CR(SH) - NRAY - A S Aol e =2
eIz 4,200 3,780 420
ol 2| 4,200 3,780 420
203 HRF&H| 4,200 3,780 420
04 BASSHRFLHI 4,200 3,780 420
ORMEZZ 350,000& = 12& 4,200
|23l 80,475 82,400 21,925
Jl2d(2ng) 33,975 34,400 A425
201 LBt | 11,775 12,000 A225
01 AFR 22| 11,775 12,000 A225
OZNZE LEtE 675,000 «12& 8,100
O2N2E ==l 7,000 x218 x254] 3,675
202 (4 H| 22,200 22,400 A 200
01 =Wl 22,200 22,400 A200
O2NM2Z ol 20,0003 »21Zx10 4,200
O=WAHYI 20,000 x6H 150 18,000
Jl=2du(gdaeld) 16,500 18,000 A 1,500
202 O4Hl 16,500 18,000 A 1,500
01 =LA b 16,500 18,000 21,500
O=U0tl
(20,0002 6 1502 )-(10,000& * 1 *150) 16,500
Jl2dbl(d3+¢) 12,000 12,000 0
202 O4Hl 12,000 12,000 0
01 =Yl 12,000 12,000 0
O=UWAbl 20,0003 »4H 150 12,000
|2l (Marzelg) 9,000 9,000 0
202 O4dl 9,000 9,000 0
01 =LA bl 9,000 9,000 0
O=WHHH 20,0003 »3H 150 9,000
23Ul (HNEEE) 9,000 9,000 0
202 O4dl 9,000 9,000 0
01 =Wl 9,000 9,000 0
O=Uaotl 20,0003 *3E 150 9,000
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